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Geography
Paper 1II

qIA

PEEL RGN |
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : AT GLAYehd THUT IR (100) Tgaart Ted fored oTed. Jciesh Jemen & (2)

U1 3Ted. @d U Wred.

................... has popularized the ‘gEEAER | & R ..., T
concept of ‘Uniformitarianism’ in a e fuf~aae 1w fSreAtarst (1830)
book ‘Principles of Geology’ (1830). RIS CSEIGG] AT el

(A) James Hutton (A) SFq ged

(B) C. Lyell (B) 4. @&

(C) W. Penck (C) e=g. U

(D) A. Wegner (D) T AT

The feature ‘Scroll Lake’ is related ‘TR HUE ® gwg Helferd
|70 R R

(A) Playa (A) T

(B) Karstic (B) TAEEE ¥l

(C) Glacial melt (C) feura fadesu

(D) Riverine (D) ™=

‘Paternoster Lake is a ......ccceueeeeeeen. oA R Te g TEY TR,
feature.

(A) Riverine (a) =

(B) Aeolian (B) ==

(C) Karstic (C) FA@EE Yol

(D) Glacial D) feret

[P.T.O.



Ventifacts are cut and sometimes
polished by ................ action of wind.

(A) Abrasive
(B) Deflation
(C) Attrition
(D) Corrosion

Match List-I and List-IT and select
the correct answer using the codes
given below :

List I
(Theories/Hypothesis)

(@) Geosynclinal theory
(b) Tetrahedral Hypothesis
(c) Stationary wave theory
(d) Subsidence theory

List II

(Related Aspects)

(1) Origin of tides
(2) Origin of coral reef and atolls
(3) Mountain building

(4) Origin of continents and ocean
basins

Codes :

(@ B) (@ (@
A G @ @ @
B @ G @ @
< & @ @O @
D @ & @1 (@
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AT s I § g d

e RN
(A) STTESOT

(B) 3qasd

(C) w=rersioy

(D) TR

IET-1 3Tfor AET-11 Fr= Sirea Jesa
TTelid Fendiehiqd ara @ faer .

ret-1
(Fregia/érash)
(@ & faga
(b) =ggSH TRl
(¢) Teer @ fagma
(d) stewm fagi
Tret-11
(Weifea geeh)
(1) oi-Tgrr=n Mt
(2) VARt 9 Fugra A
(3) el fafHdt
(4) o o7ftr 9rR @ i
Hehdieh :
(@ b)) @© (@
Aa & @ @ @
B @ G @ @
e & @ @O @
D @ B @O @




According to Strahlen’s stream
ordering when a stream of 2nd order
joins 3rd order stream, the order of
higher order stream will ...........

(A) Increase
(B) Decrease
(C) Remain same
(D) Be added

The river with meagre source of
water that is left after the river
capture is known as ...........

(A) Rejuvenated River
(B) Captured River
(C) Captor River

(D) Misfit River

Which of the following factors
influence the type and rate of
weathering ?

(1) Soil

(2) Climate

(3) Vegetation cover
(4) Rock structure

(5) Topography

(A) (1), (2), (3) and (4)
(B) (2), (3), (4) and (5)
(C) (D), (2), (3) and (5)
(D) (1), (2), (4) and (5)

JUN - 36219/1I—A

LA JaTg FHadGdIaR Steal fgdi
HATRTE YA qaAd HARTAT TR
fHeadTd gl S=d shHelg Yaer= shHeIgl

(D) fogma =<t

fEENUME TR & ATl @leiieideh! hivl
HIUA TSk YHfad wida 2

(1) 7
(2) =a™EE

(3) Il TS

(4) TSHET T

(5) =&Y

(A) (D), (2), (3) T (4)
(B) (2), (3), (4) =0 (5)
(C) (1), (2), (3) 3 (5)
D) (D), (2), (4) 7 (5)
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10.

Which one of the following groups

is the product of erosion ?

(A)

Drumlins, Moraines, Aretes

(B) U-shaped valleys, Ventifacts,

Natural Levee

(C) Eskers, Fjords, Outwash plain

(D) Cirques, V-shaped valleys,

Demoiselles

Assertion (A) : Deflation basins are
erosional features and may be upto

several kilometers in diameter.

Reason (R) : Removal of sand
particles by the wind is a cause of

Deflation basin formation.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) s the

explanation of (A)

not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

10.
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3TIERTM TR STl WTeAeTdeh! vl

T e ?

(A) feire-frd, fedie, wee

(B) ‘F-3ARr= T, A, Fafitw
LiGE

(C) TeHe e, fiReile, fersae fiem

(D) femmeR, =-ARRET 4, SHigHe™

faem (A) : 3TeRT @R U0 Y&

319 9 4 fohcieh fohaiieiet samemaeia o

IThd.

®RUT (R) : 3T9aed @iFart Hfd &
STqeRTRTET aagR g e
HRUM B

AT HIOW TR S 2

(A) S (A) 9 (R) 3% 3197 (R) ®
(A) I IATT TR B

(B) Tt (A) T (R) 3T 3Ted g (R)

T (A) T ITH TICR AR

(C) (A) 3T9F 318 R (R) § IF T8
D) (A) I% 3R W (R) & 3TF 3T




11.

12.

The temperature at which air needs

to be cooled to reach saturation

(A) Dew-point temperature
(B) Dry bulb temperature
(C) Wet bulb temperature
(D) Boiling point temperature

Arrange the following in terms of

decreasing albedo :
(1) Fresh show
(2) Pine forest
(3) Glacier ice
(4) Loamy soil
A) (1), (3), @), (2)
B) (1), (3), (2), (4)
(©) (3), (1), (2), (4)

D) 3), (1), (4), (2)

JUN - 36219/1I—A

11. &1 GY SVAISH A1 ATHMATT 9

12.

n N
Seldl a4l

(A) Tafag amEE

(B) IS A dIIHM

(C) 3hiedn Hrar dIgHH

(D) IeheA fag qm9EM

WeAtel JataT qedshd=a Saicdl shH

oer e

(1) M TS 9%
(2) WET o

(3) fereidial s
(4) ST HAT

(A) (1), (3), 4), (2)
(B) (1), (3), (2), 4)
(©) (3), (1), (2), (4)

D) 3), (1), (4), (2)
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13.

14.

15.

Assertion (A) : At midnight, net
radiation is negative.

Reason (R) : In the afternoon, net
radiation decreases as insolation
decreases.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)

Both (A) and (R) are true but
(R) is not the correct explana-
tion of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(©)
(D)

The branch of climatology which
analyzes proxy data to reconstruct
past climate is named as ..............

(A) Synoptic climatology
(B) Dynamic climatology
(C) Paleoclimatology

(D) Regional climatology

These clouds are high, white and
thin :

(A) Cirrus
(B) Stratus
(C) Cumulus

(D) Stratocumulus

13.

14.

15.
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faeam (A) : aeRETe, e TR R0
3.

SRUT (R) : SURT (FEAURY) , Feaes g
Ted WA SY GAUA Hed .

N ~

@il HehdiehTueh! Ay faehey faer .

(A) (A) g (R) Tl seR 3Ted 10
(R) ® (A) = Irg TI&IHIT 3R

(B) (A)d (R) ! seR 3Ted g (R)
T (A) T TEH TR AR

(C) (A) T =R 38 W (R) T I 3T
(D) (A) T I 38 W (R) T IR 378

BRI Iel S Wia9sl S
forgetoor aTadial el gAde
ch{Utll{«lI(;l q"{a a.l. QTI'@FIT ..................
Y M.

(A) FHENTG (Synoptic) TATHMITEA
(B) TIfdeh BeATATSIES

(C) JUaT BATHTRITE

(D) JRfTh BEHHRTE

T @ 39, Ui 9 foles AW
(A) €rE

(B) €™

(C) ™

(D) EIRTH




16. The alphabetical symbol (List-I) in
Koppens climate classification and
their matching climate type (List-1I)

are given.

Match List-I and List-IT and select
the correct answer from the codes

given below :

List I
(@) Am
(b) BSh
() ET
(d) CWb
List II

(1) Tundra climate
(2) Hot semi-arid climate
(3) Tropical monsoon climate
(4) Subtropical highland climate
Codes :

@ ® © @
A 2 3 @ @
B) @G @ QO @
<€ B @ QO @
D) 2) B QO @

JUN - 36219/11—A
16. HIUT=AT BATH TR LU SoNeRHT g
(ART-1) 3T =R S[@UIR - gAHH

R (IRI-11) fooiel eTmea.

IEH-1 T ARI-11 A=A S Seeeld |eitel
Heharhigd ard e e
-1
(@) Am
(b) BSh
() ET
(d) CWb
rar-11
(1) g &M

D A

(2) 3T IR TN

(3) IOhicTHT WA TATHM
(4) U-IUERICHHT AT gATH
Hehdieh :
(@ B (@ (@
A 2 6 @ @
B 6 @ O @
< 6 @ O @
O 2 6 @1 @
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17.

18.

Why is surface air temperature
measured at a standard height of 1.5

meters ?

(A) The winds are lighter at this

level
(B) By international law

(C) To ensure an accurate reading

insulated from surface effects

(D) To allow the observe to read the
temperature at eye level

without stooping

Which statement is incorrect

regarding the Coriolis force ?

(A) It is always directed at right

angle to the direction of wind

(B) It deflects winds to the right in
northern hemisphere and to the

left in southern hemisphere

(C) It directly affects wind speed

(D) It is strongest at the poles and

weakens equatorwards

17.

18.
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JSIIHTa=AT goid AMqHE § 1.5 HIX A

JHIOTG S=el T HISTA SId ?

(A) TS WU dR BASh 8

(B) ST SHIEFEIER

(C) Ys3vITr=A1 YRUHTIRM 3T A

(alla

HIIR=d

H LIS

(D) FOererTar Well 9 dehal dr9q

TSIl /a3

Nes N

HINTH TAT e Telicideh! shIvd
faum g e ?

(A) Tt foem &€ araren fesieh
EAECARIGIIC RS

(B) S Tiendld @ oI Seidiehe
afor < faror Meeld s Sethe
fagfua s

(C) = e gRomy ar=gr=a amer gl

A W

fors[agmehe FHEAd Il

(D) @ YaER SR
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19.

20.

Important characteristic of
atmospheric layers (List-I) and
atmospheric layers (List-II) are
given. Match List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Reflects radio waves back to
earth
(b) Fall in temperature stops
(¢) Temperature falls with height
(d) Contains most of ozone
List II
(1) Stratosphere
(2) Troposphere
(3) Ionosphere
(4) Tropopause
Codes :
(@ b)) @© @
A 1 @ 2 O
@ & 1O @ @
o o 6 @ @
D & @ @ @

Assertion (A) : The Siberian
climate is conspicuosly absent in the
southern hemisphere.

Reason (R) The southern
continents are marked by the
broadness in the high latitudes.
Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)
Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
(D)

19.

20.
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SISO TR Heware A (IRl 1)
anfor araeReme R (AE-11) feoe
3. ARI-1 F AR - 11 3= St o
T HehdlehIqd g fere
ret-1
e ol yedire wafda g
AIHMIA oS oTeld
AT S8R Hed
JqHED S SR 3T STl
arer-11
EGIETE
(2) U
(3) SATIATEO
(4) &raform
Wehdiah :
(@) ()
A 1 @
B) B @

<o o 6 @2 @
D & @ @ @

faam™ (A) : IFaREA gaME € <fero
Tieneld geeeediayyl ST 3T,
HIUT (R) : =0 AARMHE fe0hera
e fawga emRa.

(@)
(®)
(c)
d)

(1)

(c)
(2)
4)

(d)
3)
(2)

T Geharehtuesh! A4 faseq feret .
(A) (A) F (R) Trg! sIsR 3fed 3fur
(R) T (A) ¥ Ig TR 3.
(B) (A) 9 (R) T=I sIsR 3Ted W (R)
T (A) T IH TSI AR
(C) (A) B =R 218 W (R) ¥ I M8
(D) (A) T TH 3¢ WG (R) § SR 3T

11
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21.

22.

23.

As per the J. Tuzo Wilson’s concept

of ocean basins, ............. is at juvenile

stage.

(A) Red Sea

(B) Arabian Sea

(C) South China Sea
(D) Dead Sea

Assertion (A) : Ocean currents are
seasonal or permanent unified
movement of ocean water.

Reason (R) : Ocean currents are

driven mainly by seasonal winds.

Select the correct answer from the

following :

(A) Both (A) and (R) are true and
(R) explains (A)

Both (A) and (R) are true but
(R) does not explain (A)

(A) is true and (R) is false
(A) is false and (R) is true

(B)

(©)
(D)

Which one of the following solute is
major component by weight in sea
water ?

(A) Magnesium chloride
(B) Sodium sulphate
(C) Calcium carbonate

(D) Sodium chloride

21.

22.

23.
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S oZe faegd Ar=ar |rm wml

(A) TEET 95
(B) 3TET §H5
(C) sfegu fodft wgg

(D) 9ad ¥q5
faam (A) ;: IF Yo® ®§ 9 9T

BT foRal STEHe ThiEd Yo 9.

T (R) : ORI Y418 ¥ I &t
I JIR 2.

ETATCTUeh! ShIUTdT Hehdish SRIeX 3T ?

SO

(A) TIEI(A) 3Tfor (R) 3T 31Ted STfuT
(R) ¥ (A) ¥ 9 ToaI0 318

(B) Il (A) 2T (R) 3Tk Ted 1L
(R) ¥ (A) = 3T TR0 K]

(C) (A) o9 3R Tl (R) I 3T®
(D) (A) 9% 3T oTfur (R) 3T TR

TTATAdh] RV FHSTAT A0

gt Sd Uk 38 7
(A) Hefiem FaREe
(B) wifest Hehe

(C) wfewsm e

(D) Wifes™ FERES
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24, e, deposits are found between | 924. U= WA= 39 3T =1 grdd=A
the high and low water spring tide g e Ty ST
lines.

(A) 3UaeHE
(A) Littoral
(B) Shallow water (B) it
(C) Bathyal (C) TR
(D) Abyssal (D) foaet=

25. Consider the following statement(s) | 25. TR ATATRIOMHSHA BTATd  faem
related to the ocean acidification. ICECR I
(I) Itis aterm used to describe the I) H&Fa: SHTETTH SYAT=AT STTesuaA

changes in the chemistry of the SR S qvard TEre
World’s seas, primarily as a ey JuTen B G ST
result of burning fossil fuels. e
(II) The COy in the water, which (1) Trardiet @ smstamEs 3
leads to the formation of e S ﬁ‘iffa'{ﬁ
carbonic acid, has caused the pH - - N
¢ oo £all b 0.1 oS TIRT Jear=t | 0.1 TehepH
of surface oceans to fa . i -
it diti j tdtyfll w o i
units, and it is projected to fa
0.3 — 0.4 Tk SAOTE HHI
a further 0.3 — 0.4 pH units by S . .
the end of the century. '
Select the correct code : Rl :
(A) Only (I (&) = (1)
(B) Only (I) (B) ™ (1I)
(C) Both (I) and (II) (C) <&l (I) =wfor (ID)
(D) Neither (I) nor (II) (D) (I) & = (ID) & &
13 [P.T.O.



26.

27.

28.

In deep sea, more regular waves

with rounded wave crests are called

(A) Seiches
(B) Swell
(C) Clapotis
(D) Tidal

Assertion (A) : Salinity of the
ocean water is not same everywhere.

Reason (R) : Salinity of the ocean
surface is exclusively controlled by
temperature.

Select the correct code from the
following codes :

Codes :
(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) is not the correct reason

(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

Generally seamounts are having

relief meters above

reference surface.
(A) 300-500

(B) 500-700

(C) 700-900

(D) > 900

26.

27.

28.

JUN - 36219/II—A
Tl SR e Hafia STifor MR
TORMS ST T 3/ Ui
(A) TE=Y
(B) @
(C) =A™
(D) Wel-3TE

faam (A) : 9P UIOIET TR 9o
URE 9.

&RUT (R) : 9 U3 &Rdl ek

o te

REIES .

NIREIEIEES
i

(A) (A) T 39 38 W (R) I% 3T
(B) Il (A) 70T (R) 3T 3Ted W

(R) ® Irg &R &
(C) T (A) sTfor (R) 3T 3Tea
(D) S (A) 37T (R) 9 3R
T JEarHTeR WA YSRT WIERT S

(A) 300-500
(B) 500-700
(C) 700-900

(D) > 900

14
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29. The oceanic crusts are mainly | 29. TRl 9qhad & HEAd:
composed of ................... type of ThTCAT TEHRMT STl 3.
rock.
(A) 3fueHEe
(A) Andesite 5
(B) Granite (B)
(C) Basalt (C) =it
(D) Mud (D) w\=
30. Match the following : 30. @it Sel Seedl :
Ocean bottom configuration TR ded HISO :
(@) continental shelf (@) @ ¥4
(b) continental slope (b) T IR
(c) ocean deeps (¢) T faaet=
(d) deep sea plains d) O G em
Characteristics : P .
(1) Covers two-third part of the 1 wﬁrmaﬁ—a?ﬂw ST .
ocean floor.
(2) 9=t @iell 3000 @ 5000 HEHAT
(2) Depths between 3000 and 5000
T 1.
fathoms
(8) Off broad low land coasts ) ! qae
(4) Abrupt change of gradient (4) S ST ST
B) 1) @) (@ 3 B O @ @ A
) 3 @ (2 @ < 3 @ 2 @
D @ 3 @@ @ D @ B3 @ @
15 [P.T.O.



31.

32.

33.

Endangered species are those which

have lost % of its

population.
(A) 50
(B) 60
(C) 65
(D) 70

Some parts in urban areas tend to
be warmer than their surroundings

is known as

(A) Lapse rate

(B) The venturi effect

(C) Urban Canopy layer effect
(D) Urban heat island effect

The complexity of any food web does
not depend upon the

(A) Diversity of organisms in the

systems

(B) Length of the food chain

(®)

Homogeneity of organisms in

the systems

(D)

Alternatives at different points

of consumers in the chain

31.

32.

33.

JUN - 36219/II—A
@YU YT A SATed ST SAIe
(A) 50
(B) 60
(C) 65
(D) 70

TR Il W A=A G
Y ITTYLT 3507 ST ITH
FBUTdId.

(A) AT

(B) ==g{ g

(C) Tl 3= &R RO
(D) I Sl o RO

HIVCATE 3T Seddl foersedr HhmeR
AT T ?

(A) T Star=i fafasran

(B) ST=THRIGS=T oATsll

(C) T STar=l TehgHTa

(D) wershi=a fafay fowmoh s/
eI
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34. The amount of plankton to be found | 34. IR STERBUTAT Wigehld JHTOT =~
in the ocean is not determined o fafyea e et
| 0)) /2SR
(A) TroaT=T e
(A) Depth of the water
(B) € YaTg
(B) The ocean currents
o (C) dUEE o &Rdl
(C) Temperature and salinity
(D) Length of the day and night D) 9 W =
35. It was emphasised by India that | 35. ‘TiRea FHem @ SFEREA wafaRoia
‘The removal of poverty is an - . N
Hglad BAY Yuitard U=l g
integral part of the goal of an
environmental strategy for the world ST STEAAT W AR 3 HdTeh S
n....... SERR ¥ S 2
(A) U.N. Conference on Human
Environment at Stockholm, (A) HHE qEfeRo e W e
1972 e, wihsH, 1972
(B) The Vienna Convention for the
Protection of the Ozone Layer, (B) S T FiaomEe feu
1985 AfaRe, 1985
(C) Preparatory Committee
Meeting, Geneva, 1991 (€) ’ a1, 1991
ment and Development, Nairobi,
199 IRwg, T, 1992
17 [P.T.O.



36. Study dealing with the relation of

37.

individual species to its environment
is known as

(A) Synecology
(B) Autecology
(C) Community ecology
(D) Population ecology

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Carbon dioxide
(b)
(c)

(d)

Methane
Nitrous oxide
CFC
List II
(1) Fertilizers
(2)
3)
(4)
Codes :
(a)
(A) 3)
(B) (2)
) 3
(D) (@)

Fossil fuels
Paddy fields

Liquid coolants

®)
(2)
(1)
(4)
3)

(c)
4)
(3)
2)
(1)

(d)
(1)
4)
(1)
(4)

36.

317.
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TS FSITA I AT YA oSN STHUT=
goao‘ 31_ .I%_U.[a ..............

(A) faeRrarst

(B) sfieeniarstt

(C) HHer gRfeerdt fasm
(D) St aftfeerdt fomm

AEL 9 FE-11 = Sed JBaA
TTeltd Fendiehiqd ara i faer .

TTet-1
(@) & SHESFIES
(b) taeA
(c) ™EZH 3FISS
(d) H.UH.9N.
rat-11
(1) =d
(2) Sared gem
(3) W &
(4) sd YitacTsh
Hehdieh :

@ &) © @
Aa @ @ @ @
@ @ @O B @
© 3 @ @ @
M @2 B3 O ©@
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38. Ramsar Convention’ is mainly | 38, qum'ﬂ'@qﬁ """"""" CIECEE]
known as the convention of ..............
(A) Wetlands of International kS \?“Oé@ﬂ e
importance (A) ST HewT=l A1
(B) Hilly Forests of National (B) ‘{|‘Qj?:[ gl SN o
Significance
(C) The law of the seas (C) WrRT frorm
(D) Hazard waste management (D) ©Ideh el AT
39. Deep ecology does not support : 39. HEla UIfediet hymd 9HdH °d
(A) Continuing inquiry into the T 2
zi););';)frlate human roles on our A) et ey Tt F >
(B) Root cause analysis of Hl\‘l“‘l‘i\uf SRIEHT
unsustainable practices (B) 3T9Tved fowar=ar o= e
(C) Enhancement of human ECeanu
consumption
(D) Conservation and restoration of (C) Al AT B W e
ecosystems (D) wREwer Hagq 3t gaeem
40. Assertion (A) : One of the main | 40. faum (A) : F5 LS RERELREEL )
objectives of the Central Pollution PSRN -
Control Board (CPCB) is to o1 SRR T RO T
coordinate the activities of State freTo e ere fohars W w0 S
Pollution Control Boards and resolve e faae™ R .
the dispute among them. &HROT (R) : &3F EFCA [RRELIREE
Reason (R) : The CPCB is the ¥ o o tew W 9 =@ adE
international board and has a . = o
central office as well as a network FrEerd 3T S fafaer fokmit feera
of zonal offices located in various fayria wEfaae S TR
places in the world. T ROy SE R ?
Which one of the following is
correct ? (A) T (A) & (R) 319% 3 (R) ®
(A) Both (A) and (R) are true and (A) = Fg TR AR
(R) is the correct explanation (B) T8 (A) 9 (R) 319 3197 (R) ®
of (A) . N a
(B) Both (A) and (R) are true and (&) = = Wbdlq?{ P
(R) is not the correct (©) (A) sT=H #Me TG (R) © ESZ
explanation of (A) EI
(C) (A) is true but (R) is false D) (A d (R) © e
(D) (A) is false but (R) is true D) A= e T (B e
19 [P.T.O.



41. Arrange the following stages in the

42.

history of demographic transition in
sequence using codes given :

(1) Low birth and death rates

(2) Decline in both birth and death

rates
(3) High birth and death rates

(4)

Decline in death rates while
birth rates remain high

3), 4), (2), (1)
3), (2), (1), (4)
(€ 1), (2), 4), (3)
D) 1), 3), (4), (2)

Consider the following statements
and select the correct option from the
codes given :

(1)

(A)
(B)

A primate city is usually a
disproportionately large city.

(2) A primate city is the one that

is invariably a religious centre

3)

A primate city is exceptionally
large compared to the second
largest city

(4)
Codes :

(A) (1), (2) and (3) are true
(B) (1), (3) and (4) are true
(C) Only (3) is true

(D) Only (1) is true

India has primate cities.

JUN - 36219/1I—A

41. fecioan Gehdien T STIe AhEEAT HehHTl

42.

staear et w9 e :
FHH S S0 GG T
BRI W | I N R
I=d S S0 g <X

(1)
(2)

3)
(4)

Fdl Yo S T 3= qfgetell ST 8

A) ), (4), (2), (1)

(B) (3), (2), (1), 4)

©) (1), (2), 4, 3)

D) (D), 3), (4), (2)

wrefid fau fo=amma =1 oo wrea
TehdeeHyd 4 e faEer

(1) STt I Tsh =9l Hid e
3.

(2) U IR TWUN Tk HfHed &g
3R,

(3) TEA Tl Hicdl Y= Ja1- Th
SO T STEIEIHR T HIS 3TH-

(4) 9RAE 3TN TR IR
Hehdich

(A) (1), (2) =701 (3) ¥ S 3Med
(B) (1), (3) (01 (4) R T
(C) e (3) s 318

(D) e (1) SR 318
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43. Which of the following factors does .
' wing 43. AT THU  dAlhdEdT]  3THRN
not alter the total size of the
TTATAIR] HITAT FEhI s a|ad
population of a country ?
?
(A) External migration e
(B) Internal migration (A) IR T
(C) Higher fertility compared to . .
. d P (B) Sdd T
mortality
(C) HISU=AT qoiid I=d ST
(D) Refugee migration across the
border (D) i sferied faffad T
44. Which is the most densely populated | 44 7o Taifus AHgE T4 STEO
regions of the world ? FIET TR AR ?
(A) Equatorial region (A) %W e
(B) Tropical region (B) SoUrRfzseid wouT
(C) Temperate region (C) guehiame gy
(D) Sub-Arctic region (D) SU-3ThR® w29
21 [P.T.O.



45. Match the following and select the
correct answer from the codes given

below :
List I
(Types of Age Pyramids)
(@) Stationary
(b) Progressive
(¢) Regressive
(d) Bell shaped
List II
(Characteristics)
(1) Low birth and death rates

(2) Unchanging fertility and

mortality
(3) High birth and death rates

(4) Declining birth rate and low

mortality rate
Codes :

(@ ®) @ @)
A Q) @ QO @
B 2 @ G @
e @O B @ @
D) 2 B @ @

JUN - 36219/1I—A

45. TEAd Sre Seedl 301 @eft feeiean
Hhaemyd 9 W Haer

-1
(Ta firfug y&r)
(@ fer
(b) TRl
(c) T

(d) = HR
Irdr-11
(TTafdTSe)

(1) HH S A0 g
(2) SRR FSAAamar S §eg
(3) == S MU g
(4) SR S T A0 HH P
Hehdich :

(@ B © @
@a 3 @ O @
B 2 @ & @
© o 6 @ @
M 2 & @ @
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46.

47.

Assertion (A) : High birth rates

display large proportion of

population in younger age groups.

Reason (R) : Industrialization has
been a factor in bringing down

fertility rate.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which is a small settlement usually
characterized by a single economic

activity ?

(A) Hamlet

(B) Village

(C) Rurban Centre

(D) Urban fringe village

46.

47.
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faem (A) : 3=9 SR A EEAT g

FAEEN ST JHT0T 9fdd skl

HIOT (R) : AENNTR IR0 BT SFHEL THT

At U0 <ol ¥eeh 3l 3R,

03 K3
.
.

(A) (A) 3T (R) Sreral sRisR 3T (R)

T (A) T s favomm omg

(B) (A) 3TfU1 (R) Tr=ral aek g (R)
T (A) 3 oI favewo A

(C) (A) R TG (R) I

D) (A) 9% |G (R) 3TTH

weht  omfdfer  foman
IfTERd Selell Th @eH adEd ST 2

(A) ot/amet

bV o
anlVlal  HlRId:

(B) &
(C) TH-T&d g

(D) I Y9 TE

[P.T.O.



48.

49.

50.

Physiological/Nutritional density is
calculated as :

(A)

Number of people per square
unit of land

(B)

Number of people per square
unit of farm land

(®)

Number of farmers per unit of
farm land

(D) Physical carrying capacity of

land

A bulge in population pyramid
indicates :

(A) Unusually high fertility or

mortality or changes in
population due to effects of
migration

(B) The effects of war or famines

(C) That the population is ageing
at an unusually fast pace

(D) That females join the workforce

in large numbers
Ageing at the base occurs
(A) When the proportion of the
population in child-age groups
remains constant due to fertility
decline

(B) When child mortality rate
shows distinct decline

(C) When fertility declines and new
birth cohorts are smaller than
previous ones

(D) When great fluctuation is seen
in successive age cohorts

48.

49.

50.
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I faeh/ A0 Ta= HISTHT ¥

(A) ¥fd IRA ot TaeF AhEe]

(B) 9fd SIRE JIqoTHIA Tk AlhEE

(C) 9fa IRY SasTHIA 5 Sdehd] T

(D) o=t URfaer “RoTera

e fifieasy & gee gfed
ETCE

(A) TIARAT TIETes STHHTII0] 3%4
ST fehall 9o fohall wieheiea
EISEINCHS]

(B) 35 fohal Tohles am=n 9RomH

(C) FM=ITY dArehEed SAfaer™d o
SEfRITRS Rl

(D) \ISATYHTUG Higell shar fashToit
T 2o

(A) SR gSA&Hd=A HEdqes o

AN AR Eee JHT0T fEer e

(B) Sl arergegeX fa=1 w2 geiferd

(C) TSR YSTHA&THAT ST Bid 1707 e
ST EIE ARTTCTIeT T ST

(D) SRl fRaR g3l cirehrd Aigl Ja-
Iar fegard

24



JUN - 36219/1I—A

51. Which cost is incurred in the process | 91. IV T AT Fishad et gl
of moving and which are principally IO A1 A $e e o A AT
made up of fuel costs and wages ? GEEY AT ?

(A) Overheads cost (A) R Ed

(B) Transfer cost (B) IR &=
(C) Line-haul cost (C) T 92 T
(D) Comparative cost (D) oS T

52. Which of the following is the correct | 59 @i feoredT STl S9T=A dlgswﬁ
sequence about the wind-ener -

4 " s 8y SURAIER g 3T A ol ?
producing countries of the world in
descending order ? (A) ST, ¥F, J.TE.T., YR
(A) Germany, Spain, USA, India (B) T, =M, FTer, W
(B) Spain, China, Canada, India 5

(C) . wE.T., Afern, ¥4, wRd

(C) USA, Australia, Spain, India
(D) India, Spain, USA, Germany (D) ¥R, ¥, ZTET, FHA

53. Alfred Weber identified three factors | 53. 3TCHs A& AT e FA1feh oM
that determine the location of ffadian<or oM dF 92 Y. I1d
industries : STEqF, TR S o
Transportation, Labour Costs and TEYT B
............... R
(A) Least cost

B) &
(B) Agglomeration (B) HrH
(C) Location of competitors (C) THicH T
(D) Maximum revenue location (D) wUA Hega! e
25 [P.T.O.



54.

55.

56.

Which of the following countries,
whose economy is entirely dependent
on the production of petroleum ?

(A) Kuwait
(B) Venezuela
(C) Iraq

(D) Iran

Which of the following statements
is not correct about Nomadic
herding ?

(A) It is a form of intensive

subsistence agriculture
involving the grazing of
domesticated animals on

natural pastures

(B) It is practised in large belt of

arid and semi-arid lands

(®)

It is an aboriginal form of
livestock raising

(D) Nomads select the type and

number of animals for the herd
according to local, cultural and
physical characteristics

The Union and Pacific Railway
connects :

(A) New York to San Francisco
(B) Halifax to Vancouver

(C) Paris to Istanbul

(D) Perth to Darwin

54.

55.
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BIHTeTieh! SRIOTET S STeferarEe qurd:

TSI =l ICGAER STHMRa 3T ?
(A)

(B) wergEeT

(C) U=

(D) =™

TTetadsh! Hivd faem vesh d3-

qreTATeTed IR et ?

A~

(A) T 9@ SUSiifach=i Id< @&y
3T AT TTedtal vt Jfifeh FIvrer
Al

(B) T &% 9 AYYh A Higan
S| hel S

(C) T WA 3TfcH @&y 318

(D) ¥ ThRT=] FHeduldied YT

YR & &A1 Al fers wenfied,

i faes 3o ehfaeh TUremiaR

Fd

(A) AR O T HI-Eh]
(B) Taham 1 Heheet
(C) ¥0g I s

(D) 9 T srfdA
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57.

58.

Which of the following statements
is/are not correct ?

(@) V. Nath divided India into 15
macro regions

Ashok Mitra divided India into
5 macro regions

Prakash Rao and L.S. Bhatt
divided the country into 7
macro regions
Chandrashekhar divided India
into 13 macro regions

(a) and (d)

(B) (b) and (c)

(C) (a) only

(D) (d) only

Select your answer from the codes
given below :

®)

(c)

()

(A)

Assertion (A) : Balance of trade
records the volume of goods and
services imported as well as exported
by a country to other countries.
Reason (R) : If the value of exports
is more than the value of imports,
the country has a negative balance
of trade.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) 1s not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

()
(D)

57.

58.
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Teereh! I faem aleR e ?
(@) & A IRA 15 I8 JLId
faammft e

sl fie I vRart 5 J@a
TouTa faummft et

RTINS o TeA.TH. 9g i1 T
7 984 YouNd favmToR et
TSI AT qRaret faumrei 13
J8d UM shell

(@) 3T (d)

(b) M (c)

(C) &K (a)

(D) %K (d)

faam (A) : TEmEn oW gEe e
ST AT AreEieR  HAafd=
STHRAARET Hig SATIRAEd 2.
HRUT (R) : St Fafdie 4t © STt
A& ST 3THd, & QUITel ATl
R ST

Hehdloh

(A) (A) & (R) Trgl ssR e 2ol
(R) T (A) T 3T TR 3R,

(B) (A) @ (R) Sl SRR 31ed g (R)
T (A) T TgH TR AT

(C) (A) % s 318 g (R) T I 38
D) (A) T TH 3¢ W (R) § SR 3T

®)

(c)

(d)

(A)
(B)
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59.

60.

Which of the following statements
about Von Thunen’s theory is not

correct ?

(A) According to Thunen’s model
concentric ring-I has market

gardening and milk production

(B) Thunen’s models concentric
ring-II has firewood and lumber

production

(C) Thunen’s model concentric ring-

IIT has livestock farming

(D)

Thunen’s model concentric ring-
IV has food crop farming with

fallow land

In year 2016, which one of the
following has the higher rank in

Human Development Index ?
(A) Sri Lanka

(B) Bhutan

(C) India

(D) Bangladesh

59.

60.
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TTeleusht a1 fagia S
HIod faem ssR @ ?

(A) AT TRl Wbl ades-1 3

ST I F g SR e

[a (o

(B) FAT=A WEUNA §Hehs! ages-11

A A1 AThHE 9 AhHE Sieeh A

IR B

[ o

I ades-111

(C) A=A Wil THeh

I YA Ul el Sd

(D) AT TEUA THehs! ades-IV
I STAYTT Uleh Tl o TSieh STHIA
SAT@ead

T 2016 T, WIATeh! HIVT=ET A

faerra Trderepid S=a 9oft el ?

(A) Hiceht

(B) 9=

(C) ¥rRd

(D) dFARY
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61.

62.

Assertion (A) : Tribal people in
India are generally concentrated in
relatively inaccessible parts of the
country.

Reason (R) : All the tribal people
in India practice shifting cultivation

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) 1is true but (R) is false
(D) (A) is false but (R) is correct

The National Health Policy (updated
in 2017) focuses on which of the
following ?

(B)

(@) Growing burden of the non-
communicable diseases.

(b) Emergence of robust health
care industry

(¢) Growing incidences of catastro-
phic expenditure due to health
care costs.

Codes :

(A) (a) and (b)
(B) (a) and (c¢)

(C) (b) and (c)

(D) (@), (b) and (c)

61.

62.
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faam (A) : yRade enfeardt e
Y=Id: M qolid STeart ()
qTHEY whigd STea.
HIOT (R) : YA 99 AfGaret e
forenfoq 91t LA

ETATIdeh! hIvd ek A ?

H@H‘I'T:H :

(A) (A) 37 (R) Taiel sRIeR 37T (R)
T (A) T o favemm omg

(B) (A) 37fU1 (R) Srral SieR 37T (R)
T (A) 3 oI favewo A

(C) (A) SRR |G (R) I

(D) (A) I g (R) SR
T AR IR0 (2017 7 3caEd

HEATIR ) TTeTeTiesh! HIMeR el oS

Hd 2

(@) AGHHd MR e STl

(b) T [l TN S JHOIT

EISEIIESE]

(c) STRE Har=Al @eEiqes SIS
el et a1e

Hehdih :

(A) (a) S ()

(B) (a) 30T (c)

(C) (b) = (c)

D) (@), (b) 2 (c)
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63.

64.

Select the correct option(s) for the
statement from the codes given

below :

A region is more diverse culturally
if it :

(@)

has homogeneous population

composition

(b)

has heterogeneous population

composition.

receives voluminous 1in

(c)

migration.
(d) is geographically isolated.
Codes :
(A) Only (@) and (b)
(B) Only (b)
(C) Only () and (c)
(D) Only (¢) and (d)

Which boundaries result when a
smaller state is absorbed by a larger

one ?

(A) Relict

(B) Superimposed
(C) Subsequent

(D) Antecedent

63.

64.
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Erell fociean HehdrhmeA aTgeh faum

Taer ¢

T 35 TR (R 3Ty Sfearegol s/
EEIE

(@) THTHH AREE T 3T

(b) fafay g =T 9

(c) SRl HISATIHING sifeeefeliat 9T
G|

(d) g1 Arifasrgsen favad e
Hehdich

(A) ® (@) 3TOT (B)

(B) & (b)

(C) e (b) 3 (c)

(D) we (c) 3T (d)

SRl e TSI HIg USF fiessha

dogl ShIUT HrHT gROmHE Bd 2
(A) STagTS
(B) teamifua

(C) ITIgat
(D) gatgat
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65. Who has divided the globe into | 65. Sl Ul y&HRer IRASAE fawmi
Geostrategic realms ? et ?
(A) Bassin (A) oI&H
(B) Cohen (B) hlgd
(C) Kjellen (C) Siem
(D) Parker (D) 9T
66. Harlan Barrows in the 1940s, for the 66. 1940 HE) gl S I TEed Serel
first time proposed which term that ) . . .
dencdHl enlYidl 3:”% "“ll"lt'ﬁ ERIEEIEE!
encompasses the study of
how human responses to the et gfade w9 TaIfas gara Jr=n 9
environment reflect the specific AT R AR 2
composition of the culture group
involved ? (A) Hi%ﬂvﬁ'lch Hjl\lcd
(A) Cultural Geography (B) g S
(B) Cultural Ecology
(C) Cultural integration ©) ¢
(D) Cutlural diffusion (D) 9pfae TER
source of data on the caste Hindu Fr 2 wgg W9 o 2
Population ?
(A) 1921 Census (A) 1921
(B) 1931 Census (B) 1931 SOl
(C) 1941 Census (C) 1941 SO
(D) 1951 Census (D) 1951 SHTUMAT
31 [P.T.O.



68.

69.

70.

Santhals are predominantly found

in which part of India ?
(A) Northern

(B) Eastern

(C) Southern

(D) North-Western

The presence of Baruhi, Kurukh-
Oraon and Gondi dialects in North
India suggests the earlier stage of
destruction of which family of

languages ?

(A) Austro-Asiatic
(B) Dravidian

(C) Sino Tibetan

(D) Indo-European

Which is not a characteristic of

culture ?

(A) Culture is hereditary

(B) Culture is dynamic

(C) Culture is adaptive

(D) Culture is symbolic

68.

69.

70.
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T UEA™ AT Shivel T

e ?
(A) ST
(B) gita

(C) <ol

(D) ==

ST AR STee!, e -STRE ST

TSt SCHATST IO Ao FHeara A9

BIUT=AT STMELAT 20ATd iad hidd ?
(A) sredr-snferarfes
(B) wfeEiad

(C) HHI-faefeaa
(D) TS
TTeiteTyehl &k
Aéa ?

(A) TRl & AR STEd
(B) Wepedt & e rd

(C) H&Rel & AHfea /d

NN

cn [YId

RAEIRES)

(D) St & UfdeRrcAsh 3T&d
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71. Assertion (A) : Ritter’s concept of 71. FHET (A) ; Pt Seep e fex
i ity i t based e .
organic unity in nature was base SN et foef :
on the principles of divine creation.
Bl
Reason (R) : Ritter was teleological '
in his approach. U7 (R) : N I gSEehA QK]
B,
Codes :
(A) Both (